EARAROBEEIERT — 2 N— IBISH —F

201812850 (k) 19EEM2H

m C2— ¥5%3®t BRI R
[AE4£] 1% :350,000 " ~ 23%&:98,000H" 33 :49,000 437 :35000 M .~ 57&:28,000H
B BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
17l 7| 7=F—1—brF— it 3 1:(3_0).2 7-7-3-1 |37.5| — 1 472 ZF‘:?EZE ()
RNZ—b1—X B:IZXTA—HA 1) ifsye]
. - WEE :31. —5-5- . - A (EH
» o|¥=—%59 7 i 3 0 1(371)4 5-5-5-3 | 38.8 4 (4+920) ﬁmﬂgﬁ“
R:yA7% B:XTNETHS Y FEKS
> B 4 3 # 1:32.0 9-8-7-6 |39.1| — 2 435 | HEES ()
31718 A4 a9T7HE/ 3 1/2) 10 PRI
L:ZgrThA—Frp—FK B:RyTa3-2T) X BHH S
L 4 6 + 1:32.0 6-6-6-7 |39.3| — 5 517 | =%EEZ (ER)
]3 HARED 2T (75%) Ge) | D Tr—xbEVa>
R:vavrheT B:vE2-33IJL IS5
5155 v1r7nn—2 i 5 HIEIE— (1739270) 2-2-2-4 [39.6| — 6 462 f\fgé (EmH)
LT ETA VA= BiAATART— K @2 g7 5 —
i 4 ERS 1:32.4 1-1-1-2 | 40.1| — 7 407 | B#M=Z (ERH)
6|11 | ¥VI—Fz @ 1/2) 3 | B %0
R:ph>NZ— B:vYT714—L sl 1#
) |4 . -9-8- - #)l#E4 (ER)
7 6|71 77—Nn—h i 6 zn (12312/2% 8-9-8-8 | 39.8 8 (4_430) i (
Y LTAN— B2 /XA N E%54%
4 3 1:32.8 4-3-4-5 | 40.3| — 3 427 | ALEFHEAL (FEH)
g|glo| h¥/7U— () G |HERT
L:E>TAYY B:xTY ) 455
N = s — : —-10-10~! — RIS/
9 4| NZNFFY - # 6 sl 1.(353).6 10-10-10-9 | 40.0 10 <5+223; i{éééémﬁ)
Lihzxex) B9V IXRU—L4 BN E
S 4 = # 8 1:36.0 3-3-9-10 |43.3| — 9 493 | OB (Fh)
f0/8[10| E¥ 7577 (514) o |BERN
R:vAxINFT B:F1¥xIaA— =E X
® 1—F—@EBIERL
1T=7r= 1,5,10,9,2,3,7,6,8,4
20—F— 1,5,(9,10),2,3,7,8,6,4
Ja=5= 1,5,7,9,2,3,8,6,10,4
43—+ — 7,1,2,5,9,8,3,6,4,10
[ /N
B 7 110 714K 2-7 140H e E 2-7 220 JEE 2-7-8 350F9
B B 7 1004 7-8 120H B = 2=/ 220M JEE 7-2-8 780M
2 1004 2-8 370M B H 7-2 260M
8 1309

ABICOVWTRDTEEERROODE. TR LIV,



